1096 (K10a24)

Linearized knot diagam
10,

/\/ 9 6 1 7 3 10 4 2 8 5
/ Solving Sequence

28— 09— —»14—» — 7 — 5 — C2,C5, C
A knot dlagranﬂ 8 o 9 o 10 2 o 3 p= 7 o0 o 6 —>> €2,C5,C10

Ideals for irreducible component#ﬂ)f Xpar

I = (—=5272122u'" + 479854466 + - - - 4 51537967b + 28315457,

38859701u!” + 1149140066 + - - - + 2061518684 — 139434563,

u® 4+ 400 £ 9u — ' 4 120" — 3ut + 1160 — 50 + 8u® 4 4u” + 2u8 + 6u® + Sut + Tud + u? + 3u + 4)
I¥ = (uta — 20 + - —2a — 1, 2ua + 2u™ + - + a® + 4a,

u® — w4 4ut® — 30t 4 8utt — 6ut0 4 10u” — Tu® 4 8u” — 6ul + 6u° — dut + 4ud — 2u® + 2u — 1)
IN={b-1,2a+2u+3, v’ +u+1)

* 3 irreducible components of dim¢ = 0, with total 50 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L.
I = (—5.27 x 10%u'7 4 4.80 x 105u'® 4 ... 4+ 5.15 x 107b 4 2.83 x 107, 3.89 X
1076 4+1.15 X 10766 +- . - +2.06 X 1082 —1.39 X 108, u'®+4u'+...+3u+4)

(i) Arc colorings

- ()
)

ag =

o= (")
o= )
—0.188500u'" — 0.0557424u'% + - - - + 0.154930u + 0.676368
0.102296u'" — 0.0931070u'° + - - - — 0.813721u — 0.549410

—0.166761u'" — 0.0607885u6 + - - - 4 0.283272u + 1.04603)

aq =
az = \ 0.0148237u!'" — 0.207715u6 + - - - — 0.870244u — 0.939258
0.234815u'” 4+ 0.0148237u'6 + - .- — 0.790765u — 0.165801)

a7 =

—0.0607885u'” + 0.189164u'6 + - - - + 1.54632u + 0.667045

—0.373129%'7 — 0.128980u6 + - - - + 0.922103u + 1.59149
0.128980u17 — 0.289335u + - .. — 2.71088u — 1.49252

< 0.137352u'7 + 0.102296w'6 + - - - — 0.248070u — 0.401663 )

a5 =

ag = \ —0.0557424u'" +0.123431u'6 + - - - 4 1.24187u + 0.754001
(ii) Obstruction class = —1
_ 2347936717 _ 127343919, 16 657635827 414460539
(iii) Cusp Shapes = —Zi570c7 0" — sisises &+ + 206151808 % T 31537967



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C8 u +4ub+ . —3u+4
€2, ¢4, C5 ut® =20l 4 w1
Cr
c3, Cg 4(4u® —6u'T + - Fu+1)
Co u'® 4+ 8u' 4 —u+16
c10 u'® + 3u' 4 - 4 120u + 32




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C8 y* 8y T~y + 16
C2,C4,Cs y18+8y17++17y+1
C7
3, Co 16(16y™® — 28y + - + 11y + 1)
€9 y'® +4y'" + - + 735y + 256
10 y'® — 5y'T 4. — 4288y + 1024




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.954364 + 0.3715411
—0.854485 + 0.7464171
0.527077 — 1.2539501

—3.68268 — 9.368761

—0.27355 4 5.715191

0.954364 — 0.3715411
—0.854485 — 0.7464171
0.527077 + 1.2539501

—3.68268 + 9.368761

—0.27355 — 5.715191

0.495157 + 0.9693361
0.811360 — 1.1293001
—1.278490 + 0.2620321

1.41086 + 2.640171

—3.75807 — 9.262551

0.495157 — 0.9693361
0.811360 + 1.1293001
—1.278490 — 0.2620321

1.41086 — 2.640171

—3.75807 4 9.262551

= —0.567357 + 0.7061691
—0.421889 — 0.0440391
= 0.123272 + 0.3751411

0.11776 — 1.424711

0.46661 4 2.504251

—0.567357 — 0.7061691
= —0.421889 + 0.0440391
0.123272 — 0.3751411

0.11776 4 1.424711

0.46661 — 2.504251

0.501769 + 0.6622671
1.69141 — 0.675351
—1.010020 — 0.4340931

2.35859 + 1.457771

5.68941 4 2.645431

0.501769 — 0.6622671
1.69141 + 0.675351
—1.010020 + 0.4340931

2.35859 — 1.457771

5.68941 — 2.645431

—0.881883 + 0.8960901
= —0.838759 + 0.1282821
0.278239 — 0.8623321

—0.64162 — 4.358091

2.09542 + 8.944701

—0.881883 — 0.8960907
= —0.838759 — 0.1282821
= 0.278239 + 0.8623321

>~ Q@ €|l & €| & €| Q& €| & €| & €| & &> & 8| & 8| & &

—0.64162 + 4.358091

2.09542 — 8.944701




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.715844 + 0.1652071
= 0.153155 + 0.1407931
—0.254607 + 0.6329631

0.38947 — 1.387371

5.20835 + 5.016161

= —0.715844 — 0.1652071
= 0.153155 — 0.1407931
= —0.254607 — 0.6329631

0.38947 +1.387371

5.20835 — 5.016161

= 0.644327 + 1.1783201
= —1.77812 4+ 0.479611
= 0.57190 + 1.331781

—6.1478 + 15.17791

—2.47148 — 8.890881

0.644327 — 1.1783201
—1.77812 — 0.479611
0.57190 — 1.331781

—6.1478 — 15.17791

—2.47148 + 8.890881

0.123550 + 1.3554201
= —0.009343 — 0.5877071
= 0.343795 — 1.2750101

—9.80486 — 5.847791

—6.18830 + 4.950301

= 0.123550 — 1.3554201
= —0.009343 + 0.5877071
= 0.343795 + 1.2750101

—9.80486 + 5.847791

—6.18830 — 4.950301

= —0.554083 + 1.2986301
= 0.871664 + 0.6264441
= —0.301163 + 1.0545701

—3.73889 — 6.368291

—2.64340 + 9.342061

= —0.554083 — 1.2986301
= 0.871664 — 0.6264441
= —0.301163 — 1.0545701

> Q@ €| Q@ €| & €| & €| & €|l & | & 8| & &
Il

—3.73889 + 6.368291

—2.64340 — 9.342061




(ulta—

I I¥ =

2utt+...—2a—1, 2u'ta+2utt+---+a?+4a, u'®—ut+---+2u—1)

(i) Arc colorings

(+)

ag =
1
ag = 0
1
a == u
o= (")
o= (wt)
a
ag = \ —yMg+2u1t ... +2a+1
3ul3a — 3u14—|— -—2a—2
az = \ —2uMa 4+ 2ul* 4+ - +2a+2
2u14a +4ulBa4+---—a+5
ar = \ —3ulta—ut4- - —4u+1
14+3u12+6u10+7u +6ul +4ut + 202 +1
as = —ut+ul a1
—2utta —ut 4. —2u+4
ag = ult —2uB .- —aqu—2
(ii) Obstruction class = —1
(iii) Cusp Shapes
= 4u'3 —4u? + 120 — 12010 +20u° — 2408 42007 — 2418 +16u® — 16u* 4+ 161> —S8u? +8u—6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,C8 (u® +ut 4 - 4 2u+1)2
C2,C4,Cs u30_’_5u29+._.+2u+1
cr
c3,C6 w3 +u? 4+ —162u + 29
Co (ul® 4+ Tl g du? —1)2
C10 (u15—u14—|—---+2u—1)2




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cs (y15+7y14++4y2_1)2
C2,Cy4,Cs y30+19y29+_20y2+1
cr
€3, C6 30 —13y%° + ... + 21316y + 841
€ (y'® + 3y + -+ 8y —1)°
C]O (y15 _ 5y14 _|_ - + 12y3 _ 1)2




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + v=1CS)

Cusp shape

u = —0.385605 + 0.8677951
a= 3.01190 + 0.624861
b= —0.160281 — 0.8960581

—3.64104 — 1.660841

1.51042 + 3.964051

u = —0.385605 + 0.8677951
0.98340 + 3.534401
b= —0.081650 + 1.1138001

—3.64104 — 1.660841

1.51042 + 3.964051

u = —0.385605 — 0.8677951
3.01190 — 0.624861
b= —0.160281 + 0.8960581

a =

—3.64104 + 1.660841

1.51042 — 3.964051

u = —0.385605 — 0.8677951
= 0.98340 — 3.534401
—0.081650 — 1.1138001

—3.64104 + 1.660841

1.51042 — 3.964051

= 0.146928 + 1.0627401
= —0.532247 + 0.8036891
= —0.235764 + 1.3497001

—5.11062 — 2.074021

—3.82822 4-2.671221

= 0.146928 + 1.0627401
= —0.336119 + 0.8038071
= 0.789375 — 0.3194371

—5.11062 — 2.074021

—3.82822 4 2.671221

= 0.146928 — 1.0627401
= —0.532247 — 0.8036891

—5.11062 + 2.074021

—3.82822 — 2.671221

0.146928 — 1.0627401
—0.336119 — 0.8038071
0.789375 + 0.3194371

—5.11062 + 2.074021

—3.82822 — 2.671221

—0.715401 + 0.5183521
= —0.495626 + 0.1627881
0.253544 + 0.4651021

0.24352 — 1.505231

4.15133 + 2.740481

—0.715401 + 0.5183521
= 0.203961 — 0.3020351

b
U
a
b
U
a
b
U
a
b= —0.235764 — 1.3497001
U
a
b
U
a
b
U
a
b= —0.220274 + 0.7133431

0.24352 — 1.505231

4.15133 + 2.740481
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= —0.715401 — 0.5183521
= —0.495626 — 0.1627881
0.253544 — 0.4651021

0.24352 4 1.505231

4.15133 — 2.740481

—0.715401 — 0.5183521
0.203961 + 0.3020351
—0.220274 — 0.7133431

0.24352 4 1.505231

4.15133 — 2.740481

0.758945 + 0.4226291
0.732399 — 1.0079101
—0.549307 + 1.2032901

—0.27297 — 4.091991

3.04427 4 3.150941

0.758945 + 0.4226291
—1.52820 + 0.361631
0.930770 + 0.1539091

—0.27297 — 4.091991

3.04427 4 3.150941

0.758945 — 0.4226291
0.732399 + 1.0079101
= —0.549307 — 1.2032901

—0.27297 + 4.091991

3.04427 — 3.150941

0.758945 — 0.4226291
—1.52820 — 0.361631
0.930770 — 0.1539091

—0.27297 + 4.091991

3.04427 — 3.150941

0.426893 + 1.0856701
0.497713 — 0.0659501
0.38528 — 1.469201

—7.49803 + 3.603401

—6.16372 — 4.476721

0.426893 + 1.0856701
—1.91914 + 0.581981
0.672463 + 1.2253401

—7.49803 + 3.603401

—6.16372 — 4.476721

0.426893 — 1.0856701
0.497713 + 0.0659501
0.38528 4 1.469201

—7.49803 — 3.603401

—6.16372 + 4.476721

0.426893 — 1.0856701
—1.91914 — 0.581981
0.672463 — 1.2253401

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g
|

—7.49803 — 3.603401

—6.16372 + 4.476721
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Solutions to I3

V=1(vol + y/=1CS)

Cusp shape

—0.594997 + 1.0408301
—1.57156 — 0.422791
0.212345 — 0.9925561

—1.30682 — 3.518521

1.71302 + 2.590271

—0.594997 + 1.0408301
0.257459 — 0.2391991
—0.368301 — 0.1067591

—1.30682 — 3.518521

1.71302 + 2.590271

= —0.594997 — 1.0408301
= —1.57156 + 0.422791
0.212345 + 0.9925561

—1.30682 + 3.518521

1.71302 — 2.590271

—0.594997 — 1.0408301
0.257459 + 0.2391991
—0.368301 4 0.1067591

—1.30682 + 3.518521

1.71302 — 2.590271

0.594032 + 1.0956201
—0.858900 + 0.8215981
1.119760 — 0.0960181

—2.26357 + 9.217801

—0.14540 — 7.391351

0.594032 + 1.0956201
1.85470 — 0.465191
—0.61782 — 1.343691

—2.26357 + 9.217801

—0.14540 — 7.391351

0.594032 — 1.0956201
—0.858900 — 0.8215981
1.119760 + 0.0960181

—2.26357 — 9.217801

—0.14540 + 7.391351

0.594032 — 1.0956201
1.85470 4 0.465191
—0.61782 + 1.343691

—2.26357 — 9.217801

—0.14540 + 7.391351

0.538411

= —1.79974 4+ 1.438181 —4.71415 —2.56340
= 0.369866 — 1.1876001

0.538411
= —1.79974 — 1.438181 —4.71415 —2.56340

> Q& €| & €| & €| & €| 2 &) Q@ 8| @ €|l Q& €|l & €| & &
|

0.369866 + 1.1876001
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L. I = (b—1, 2a+2u+ 3, u>* + u+1)

(i) Arc colorings

1
ag = \0
1
ag = \y+1
—U
a0 = \u—+1
—U
ar = \u—+1
)
aq = 1
—u—1
as = %u—i—l
,U,%
o= ()
—2u—2
as = 2

(ii) Obstruction class =1

(iii) Cusp Shapes = fu +2

13



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

‘@ u? —u41

C2,C4 (u+1)?
3 4(4u? 4+ 2u + 1)

cs, C7 (u— 1)2
6 4(4u* — 2u+1)

cg, Co w4u+1
€10 u?

14



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1, €8, Co v+y+1
C2,C4,C5 (y_ 1)2
cr
s, Co 16(16y* + 4y + 1)
¢10 y?

15



(vi) Complex Volumes and Cusp Shapes

Solutions to I3

V=1(vol + v=1CS)

Cusp shape

u = —0.500000 + 0.8660251
a = —1.000000 — 0.8660251
b= 1.00000

1.64493 — 2.029881

1.87500 + 0.216511

u = —0.500000 — 0.8660251
a = —1.000000 + 0.8660251
b= 1.00000

1.64493 + 2.029881

1.87500 — 0.216511

16



IV. u-Polynomials

Crossings u-Polynomials at each crossing
1 (W —u+ 1) +u -+ 2u+1)%(w® 4+ 4t 4 — 3u+4)
c2,C4 (u+ D) (u'® =20+ —u+ 1) +5u® + -+ 2u+1)
€3 16(4u” + 2u + 1)(4u'® — 6u'" + -+ + u+ 1) (u® + 0 + -+ — 162u + 29)
cs, Cr (u—1W® =20+ —u+ )W +5u® + - 4 2u+1)
C6 16(4u? — 2u + 1) (4u'® — 60’ + -+ u+ 1)(u*0 + 1?4 -+ — 162u + 29)
Cg (u? +u+ ) +ur*+ - 2u+ 1) (! + 40t -~ 3u+4)
Co (w? +u+ D)+ 7u + o 4u® — 1) (! + 8uT 4 — w4 16)
€10 w?(ut® — w4 2u — )2 (w4 3ulT + - 4 120w + 32)
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V. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,¢8 (P +y+ D)+ + 4y 1)+ 8y T+ — g+ 16)
G (=D +8y" + - + 17y + (5 + 199> +--- = 205> + 1)
c7
cs.c6 256(16y° + 4y + 1) (1698 — 28y'" + - + 11y + 1)
(y*? — 13y* 4 -+ - + 21316y + 841)
co W +y+ )" +3y" +- -+ 8y — 1)
(y"® +4y'T + - 4 T35y + 256)
10 Pyt — byt 4 4 120° — 1)2(y — 5yt T + - — 4288y + 1024)

18



